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%9%%% % % % %% % %0 % % %% % % % % % %% 0 0 0 0 0 O O O %% % % % %% % % %

% shooting algorithm for the Hayashi-Prescott Type RBC model with
distorting tax

% see Hayashi and Prescott (2002)

% Written by Tonogi Akiyuki (Dec, 2008)

clear
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% deep parameter

alpha = 1.373;

beta = 0.976;

delta = 0.089;

theta = 0.362;

% stopping rule

stop = 0.0001;

% perods of simulation

T = 30;

% AA: rates of TFP growths

% NN: rates of population growths

% HH: hours of week working

% defalt

AA = ones(T,1)*0;

NN = ones(T,1)*0;

HH = ones(T,1)*40;

% initial tax rate

taucl = 0.00;

taukl = 0.00;

tauhl = 0.00;

% terminal tax rate

taucT = 0.00;

taukT = 0.00;

tauhT = 0.00;

% the period of chage of government behavior

period_c=0;

period_k=0;

period_h=10;

%% %% %% % % % %0 %% % % % % 0 %0 % % % % % %0 %0 % % % Yo %o Y0 %o % % % % % % %0 % % % %o

% shooting algorithm %

% %% % %% % % %% % %0 % % %% %% %0 %0 % %0 %0 % % %0 % % %0 %0 %o %0 %0 % % %0 %0 %0 %0 %0 % % %0 %o

% %% % %% % % % % % %0 % % %0 % %% %0 %0 % % %0 % % 0% % %0 %0 % % %0 % % 6 % % %0 % % % %0 %o

% step.1

% initial and terminal steady state

380 = (((((14+NN(T,1))*(1+AA(T,1))) /beta)-1+delta) /((1-taukl)*theta)) " (1/(theta-
1);

css0 = ((sssO” theta)*(1-theta)*(1-tauhI)*HH(T,1))/(alpha*(HH(T,1)/40)*(1+taucl));

kss0 = css0/((1-delta+sss0” (theta-1))-(14+NN(T,1))*(1+AA(T,1)));

ess0 = kssO/(HH(T,1)*sss0);
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sss = (((((14+NN(T,1))*(1+AA(T,1)))/beta)-1+delta)/((1-taukT)*theta)) " (1/(theta-
1);

css = ((sss"theta)*(1-theta)*(1-tauhT)*HH(T,1))/(alpha*(HH(T,1)/40)*(1+taucT));

kss = css/((1-delta+sss”(theta-1))-(1+NN(T,1))*(1+AA(T,1)));

ess = kss/(HH(T,1)*sss);

k00=kss0*0.975;

c00=css0*0.975;

Tauc = ones(T+1,1)*taucl;

Tauk = ones(T+1,1)*taukl;

Tauh = ones(T+1,1)*tauhl;

9%09%% % % % %% % %0 %0 % %% %0 %o Yo 0 %0 %0 %o Yo o Y6 %0 %0 Yo %o Yo Y0 %0 %o Yo Yo Yo %0 %o Yo Yo Yo % Yo

% once-and-for-all increase in tauc at t=10

%

%Tauh(period_h+1:T+1,1) = ones(T+1-period_h,1)*tauhT;

%9%% % % % %% %0 %0 %0 %0 %% %0 %o %o Y6 %0 %0 %0 To %o Yo %0 %0 Yo Yo Yo Y %0 %0 Yo Yo o %6 %0 %0 Yo Yo Yo %6 Yo

% main loop %

%% % % % % % % % % % % % % % % % % % % % %% % %0 % %0 %0 %0 %0 %0 %0 %0 %0 Yo %o %o Yo %o Yo Yo %o Yo

i=1;

c0=c00;

while i < 5000

K = zeros(T,1);

C = zeros(T,1);

E = zeros(T,1);

S = zeros(T,1);

K(1) = k00;

C(1) = c0;

for t = 1:T-1

%% % % % % % %0 %0 %0 % %0 %0 %0 % %0 %0 % %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %o %o %o Yo Yo Yo Yo 7o Yo Yo Fo Yo

% step.2

% compute c(t+1)

% using Bisection Method

taucO = Tauc(t,1);

taucl = Tauc(t+1,1);

tauk0 = Tauk(t,1);

taukl = Tauk(t+1,1);

tauh0 = Tauh(t,1);

tauhl = Tauh(t+1,1);

a = AA(t,1);

n = NN(t,1);
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c0 = C(t),

k0 = K(t);
parm(1,1)=c0;
parm(1,2)=alpha;
parm(1,3)=beta;
parm(1,4)=delta;
parm(1,5)=theta,;
parm(1,6)=tauc0;
parm(1,7)=taucl;
parm(1,8)=taukl;
parm(1,9)=tauhl;
parm(1,10)=a;
parm(1,11)=n;
parm(1,12)=hl;

[cl,fval] = fzero(@(cl) euler(cl,parm),c0);

%% % % % % % % % % % % % % % % % % % % % %% %0 % % %0 %0 %0 %0 %0 %o %o %o Yo %o %o Yo %o Yo Yo %o Yo
% step.3

% compute k(t+1)
s0=((cO*alpha*(h0/40)*(1+tauc0))/((1-theta)*(1-tauh0)*h0))" (1/theta);
sl=((c1*alpha*(h1/40)*(1+taucl))/((1-theta)*(1-tauh1)*h1))" (1/theta);
k1=1/((14n)*(1+a))*((1-delta+s0" (theta-1))*k0-c0);

€0=k0/(h0*s0);

el—kl/(hl*sl)'

(
(

Q

-~
TEZ
C‘/C

w2

(t)
(t)
(t+1

E(t+1) = el,

%% %% %% % % % %0 %% % % % % %0 %0 % % % % % %0 %0 % % % %o % %0 %0 % % %6 % % % % % % % %

% step.4

% check c(t+1)>0% 0000000 OOOOOOOOOOOOOOO
gdbooboooooboooouoooooban

if c1<=0

break

elseif k1<=0

break

=

@]
~—
\ \
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end

end

%09%% % % %% %% %0 %0 %0 %% %0 %o %o %0 %0 %0 %o %o %o Y6 %0 %0 Yo %o Yo Y0 %0 %0 Yo Fo Yo %0 %0 %o Yo %o Yo % Yo

% step.b

% check k(T)=kss

ifcl<=10

c0 = C(1) 4+ 0.00002*abs(kss); % 00D 000000000000 update
goboboooboooa

end

if abs(k1-kss) <= stop

break

elseif k1 <=0

c0 = C(1) - 0.00001*abs(kss-k1);

elseif k1 < kss && k1>0

c0 = C(1) - 0.00001*abs(kss-k1);

elseif k1 >= kss

c0 = C(1) + 0.00001*abs(kss-k1);

%% % % % % % %0 %0 % % %0 %0 %0 %0 %0 %0 % %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %o %o %o Yo Yo Yo Yo Fo Yo Yo Yo Yo
% other equilibrium quantities %

9%09%% % % % %% % %0 %0 % %% %0 %o %o % %0 %0 %o Yo o Y6 %0 %0 Yo Yo o 60 %0 %0 Yo Yo o Y0 %0 %o Yo Yo Yo %0 Yo
Y = zeros(T,1);

R = zeros(T,1);

q = zeros(T,1);

roq = zeros(T,1);

woq = zeros(T,1);

A = ones(T)1);

for t =1:T

A(t+1) = A(t)*(1+AA(t,1));

Y(t) = (K(t) theta)*(A(t)*HH(t)*E(t))" (1-theta);% 0 O

q(t) = (14+NN(t))*(beta*C(t)*(1-Tauc(t)))"(-1);% 0O O O

roq(t) = (1-Tauk(t,1))*theta*S(t,1)" (theta-1);% 000000 OO0

woq(t) = (1-Tauh(t,1))*(1-theta)*S(t,1) "theta;% OO0 00O 00O
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R(t) = (1/((1+AA(t,1))*(1+NN(t,1))))*beta*((1+Tauc(t,1)) /(1+Tauc(t+1,1)) ) *((1-
delta)+(1-Tauk(t,1))*theta*S(t,1) " (theta-1));

end

% other variables in steady state

cs0 = ones(T,1)*css0;

ksO = ones(T,1)*kss0;

es0 = ones(T,1)*ess0;

ss0 = ones(T,1)*

cs = ones(T,1)*css;

ks = ones(T,1)*kss;

es = ones(T,1)*ess;

sss0;

ss = ones(T,1)*sss;

% initial steady state

q0 = ones(T,1)*(14+NN(T))*(beta*css0*(1-taucl))"(-1);% OO0 0O O

roq0 = ones(T,1)*(1-taukI)*theta*sss0” (theta-1);% D0 0000000

woq0 = ones(T,1)*(1-tauhl)*(1-theta)*sss0"theta;% 000000000

RO = ones(T,1)*(1/((1+AA(T,1))*(1+NN(T,1))))*(beta*(1+taucl)/(1+taucl))*((1-
delta)+(1-taukI)*theta*sss0” (theta-1));

% terminal steady state

gs = ones(T,1)*(1+NN(T))*(beta*css*(1-taucT))"(-1);% 00O O

roqs = ones(T,1)*(1-taukT)*theta*sss” (theta-1);% 000000000

woqs = ones(T,1)*(1-tauhT)*(1-theta)*sss"theta;% 0D 0000000

Rs =ones(T,1)*(1/((1+AA(T,1))*(1+NN(T,1))))*(beta*(14+taucl)/(1+taucl))*((1-
delta)+(1-taukT)*theta*sss” (theta-1));

%% % % % %% %0 %0 %0 % %0 % %0 %0 %0 %0 % %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %o %o %o Yo Yo Yo Yo 7o Yo Yo Yo Yo

% drawing garaphs %

9%09%% % % % %% % %0 %0 % %% %0 %o %o % %0 %0 %o %o o 6 %0 %0 Yo Yo Yo %0 %o Yo Yo Yo 6 %0 %o Yo %o Yo %0 Yo

t=(1:T)’;

figure(1)

subplot(421),plot(t,Y(1:T,1)),title(’output’);
subplot(422),plot(t,C,t,cs0,”: t,cs,’-.), title(’consumption’);
subplot(423),plot(t,K,t,ks0,”:,t,ks,-.”) title("capital’);
subplot(424),plot(t,E,t,es0,’: t,es,’-."),title(Cemployment rate’);
subplot(425),plot(t,woq,t,woq0,’:,t,wogs,’-.”) title('after tax wage’);
subplot(426),plot(t,roq,t,roq0,’:’,t,rogs,’-.),title(after tax rate of return’);
subplot(427),plot(t,R,t,R0,’:",t,Rs,”-.") title(’rate of consumption growth’);
subplot(428),plot(t,S,t,ss0,’:’,t,s8,’-.”), title(’capital-labor ratio’);

figure(2)
plot(ks,cs,”*’ K,C);
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title("Phase Diagram’);

xlabel(’k’);

ylabel(’c’);

%%% % % % % %% % % % %% % %0 % % % %% % % % O O O O %% %% %%

% %% % %% % % %% % %% % % % % % %% % % %% % 0 0 0 0 O O O %% %% % %% % %% % % % % % %% % % % %
function y=euler(cl,parm)

c0=parm(1,1);

alpha=parm(1,2);

beta=parm(1,3);
delta=parm(1,4)
theta=parm(1,5);

)

taucO=parm(1,6);
)

)

6
taucl=parm(1,7);

(1
(1,
taukl=parm(1,8);
tauhl=parm(1,9)

) b

a=parm(1,10);

n=parm(1,11);

hl=parm(1,12);

sl=((c1*alpha*(h1/40)*(1+taucl))/((1-theta)*(1-tauh1)*h1))" (1/theta);

y=(c0/((14n)*(14a)))*((beta*(14+tauc0)/(1+taucl)))*(1-deltat(1-taukl)*theta*(s1) " (theta-
1))-cl;
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